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Use Sine, Cosine, and Tangent to solve
for missing sides or angles in r:gl/\t triangles.
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Example one: The angle of depression from a fisherman
on top of a cliff to a boat 320 feet from the base of the cliff
1

is 27°. How tall is the cliff?
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an ancient castle 231 feet tall

Example two: The
and casts a shadow that is 388 feet long. What is the angle of

depression that the sun makes with the ground to create the

T (231/359) |
=i, 2758
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1. LetcosB=_ - What is the sin (90-6) op 3
5 of n ;2-7
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3a. Write the trigonometric function for « represente

d in the right triangle below.

b. What is the length of the missing leg of the triangle?

52 R=15"

5 Y
Find the following values: cosx=_/L§_ tan X= lZ | o ‘ 2- m .r

'\:
|I sinﬂ=_.% tan B =I_Z'L5 &}4

4. Giventana = A, dr i i
Th aw a right triangle that would represent this trigonometric ratio
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[ Find the following: v |
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